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Ol X1 & 24 13,436,320 12,612,000 824,320
= 310,130
Al 514,190
[Ea 12,612,000
CPNEE FSRDN ISP = 13,436,320 12,612,000 824,320
= 310,130
Al 514,190
T 12,612,000
NEZEMNL (RRELN XNSXRALH SLE3I) 10,096,646 2,864,731 7,231,915
= 310,130
Al 514,190
o 9,272,326
Ao 5,950,291 2,261,638 3,688,653
401 A2 HIRL 201 4,982,291 2,049,038 2,933,253
01 Al&H| 4,958,500 2,041,658 2,916,842
O=2 olMOtE S3oteE EXISA 800,000
O3 A 800,000,000& 800,000
odle|goEd OIXl= EXI0HY] 30,000
O=24l 30,000,000& 30,000
OgdAFHIY ANdE FA2 € 25
Sa3A 800,000
O3 A 800,000,000& 800,000
O=Z21o ot E gt HYHE TV &1 1,348,500
OZAHI 1,348,500,000& 1,348,500
O2A0Is=AIE =X & FHAE £X 480,000
O3 A 480,000,000 480,000
OU2ZM==A &S g SAH 1,500,000
O3 At 1,500,000,000& 1,500,000
03 Al 20HHI 23,791 7,380 16,411
O=2¢ otMOtE 3otk EXISA 5,040
OAIZ2HHI 800,000, 000&+0.63% 5,040
OgEAFTHIY ANEE FA2 € 215
2=3A 5,040
OAIZ201HI 800,000, 000& *0.63% 5,040
O=2l9 otMES et dHE CCTV £X 4,85
OAIZ2HHI 1,348,500,000& +0.36% 4,855
OH0IS=AIE 8K & FHAE EX 3,456
OAlZ 20| 480,000,000&*0.72% 3,456
OOI2 M= AZHZ TH I A 5,400
OAIZ 2 THHI 1,500,000, 000& +0.36% 5,400
405 AHaHE = 968,000 968,000
01 AL =S F=HI 968,000 968,000
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OADIE &2 YHAIAY 25
968,000,000 968,000
paraleagePN Ll 102,425 115,593 13,168
101 e124d| 14,120 16,561 N2,441
M4 JRHHZ2Z2XSE+ 14,120 16,561 A2,441
ORENA € Hsisks HREX 14,120
oJlZs 78,8803 x1H %105 8,283
Oxsd=+dg 78,8803 « 12 »48L! 3,787
OunsHl 5,000 1H 1052 525
@r=] 5,0008 18 »105& 525
OJEx=g 600
i< Xt 40,000 »1H+5 200
. &l 80,0002 x1H+5 400
Og &SIl 400,000 x1E*12] 400
201 L= 65,055 75,782 A10,727
01 AFS2t2ltl 28,635 46,881 N 18,246
OgBt==H| 10,494
OARES 7¢ 2,500,000& 2,500
Oz Sd= 100,000& x 122 1,200
OX2E JNYE AMAE 082
6,794,000 6,794
o=2g+d 2,000
OAL Mt EII? 22 HA=E
100,000 »10E <22] 2,000
oYxt= 16,141
OJEXAANG S& =0l et
950,000« 1CH* 122 11,400
OFEXNEAE HEE SAH|
250,000& x10H~ 12 3,000
OJEXAANE E=D]
51,5203 101~ 128 619
OJEXEAE SIIFEEDI
46, 7203 =20+ 123 1,122
02 S3=2g4l 36,420 28,901 7,519
OXSETENLY At SS2EH| 13,200
O RSFXE dIIe=
400,000& *12J0 2 4,800
OAA LIAH ofiStarE 2HAMDIRS
200,000 * 1204 2,400
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500,000&* 1221 & 6,000
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15,000,000& 15,000
O eI 1,200
O 2l (=4) 1,200,000 1,200
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O3 XtH ot 2aHt| 7,020
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470,000 12& 5,640
ozzm
115,000« 12& 1,380
202 04l 18,000 18,000
01 2LHoIH 18,000 18,000
OZLH0AH| 8,000,000& 8,000
o220l 10,000,000 10,000
301 EetE2 N = 5,250 5,250
11 A 5,250 5,250
ogzzol K218
5,250,000& 5,250
SoH M2 A &) 2,725,000 487,500 2,237,500
402 BIZHAE 2,725,000 487,500 2,237,500
01 2I2tXH= 2,725,000 487,500 2,237,500
OHMMMARL AHA
2,725,000,000& 2,725,000
AKX 8= 976,210 0 976,210
= 310,130
Al 401,870
= 264,210
402 BIZHA= 976,210 0 976,210
= 310,130
Al 401,870
Ea 264,210
02 QI2FXH= AL 976,210 0 976,210
OAITH A0l LS
976,210,000 976,210
= 310,130
Al 401,870
[Ea 264,210
A EHFE ==X 162,320 0 162,320
Al 112,320
= 40,000
402 BIZHA= 152,320 0 152,320
Al 112,320
Ea 40,000
02 2IFHEAIEE 152,320 0 152,320
O=4re Hf
3,808,000 +40JH 2 162,320
Al 112,320
[Ea 40,000
=& B ==X 190,400 0 190,400
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01 QI X2 AL E R (KEHITHE) 190,400 0 190,400
OSZE HYY ZUXAL
3,808,000 *500H £ 190,400
LASL M (X LH XATLAILA ES3A) 873,057 569,593 303,464
SASSHAIE 267,557 209,093 58,464
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01 At 2|l 171,240 85,520 85,720
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60,0002 1005 6,000
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Oozg=== 3,000 +200&£ +23] 1,200
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4,000,000 * 14 4,000
Og At & TH =
100,000 %1514 15,100
oAs 223 3,600,000 3,600
ox=z 120
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OZelEH] 103,720
O A Z AL ol
160,000 x11CH~ 128 21,120
OgrArdHI & 2 SAZ=
55,000,000 55,000
OYAeYl & AU YL SE2MAI
A FXE 7,600,000& 7,600
OUXE A 2AMAAE 2=
20,000,000 20,000
02 35244l 55,817 83,073 NPT ,256
0382= £ HA 49,366
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160,000 * 12 1,920
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350,000 * 122 4,200
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200,000 * 122 2,400
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oY= 25,000
OBIZ S| 10,000,000 10,000
OF0==SXtE YXHI
300, 0002 *50CH 15,000
202 04| 2,000 2,000
01 =LHO LI 2,000 2,000
OB 2= &2 0]
200,000 x5 +23] 2,000
301 EtE N = 8,000 8,000
11 #AIAMHIXIE S 8,000 8,000
Oz A 22
8,000& *1,000& 8,000
A0E SAISTHAIAY 25 443,600 193,600 250,000
201 et 3| 93,600 93,600 0
01 At22t2l] 93,600 0 93,600
OANE LASLHAAH = RS
1,600,000& «12& 19,200
OgAsM S SBAAE S
4,200,000%*12% 50,400
OgM=SEHE L RAE+
2,000,000~ 128 24,000
401 A2 HIRL 201 300,000 50,000 250,000
01 Al&H| 300,000 50,000 250,000
OANtENISZ&(I2A43 &XI)
20,000,000 +5CH 100,000
OnISET YD ANE 2R
5,000, 0002 *36CH 180,000
OINSYERZ AL D=
2,500,000 +8CH 20,000
403 TR M SAH=01H 50,000 50,000
02 SIS0t =S A A 50,000 50,000
OANIESHAY A= 50,000,000 50,000
GlEIHI (A EA XISRFALEH SE35/3) 2,466,617 9,177,676 26,711,059
Oild1d| 2,466,617 9,177,676 26,711,059
801 ofielH 2,466,617 9,177,676 26,711,059
1 28Holigigl 100,000 100,000 0
ot 100,000,000 100,000
B UR==Es 2,366,617 9,077,676 26,711,059
OURE==2= 2,366,617,000& 2,366,617




